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BAYIR KBS Eh BRDYEIE W /BB 45 A
301 01 810007 FERE  REHEB 212 2.0 45.00
301 02 810017 EJEAER E(& 4.0 53.00
301 02 810017 EBYPIE-BHIRE _HEFIRR =35 2.0 48.00
301 02 810017 EEYIE- SRR — = 1.0 53.00
301 02 810017 FERE  REHEB =3 2.0 42.00
301 06 810089 BEEYIE-BHIRE _HEFIRR = 2.0 40.00
301 07 810090 REYE-BHRE_HETRS E(Z 2.0 59.00
301 07 810090 EEYIE- SRR — EE 1.0 55.00
301 09 810135 EEREE- AR CEEERRNE = 2.0 41.00
301 09 810135 BB B REEEE =3 1.0 40.00
301 11 810157 2R =B 4.0 59.00
301 12 810158 EERCE-ARCEEERNE =3 2.0 47.00
301 12 810158 SEEEEEME =3 2.0 45.00
301 13 810193 BB B REEEE =3 1.0 52.00
301 13 810193 BEYIB-BHIRE— =1E 1.0 57.00
301 14 810201 EEEE-ARCEEERNE =B 2.0 50.00
301 14 810201 EilTEE WE 2.0 55.00
301 14 810201 AR EBEBRIER EE 2.0 40.00
301 15 810208 ZEH =B 4.0 42.00
301 15 810208 EELE-ARCEEERNE = 2.0 43.00
301 15 810208 EEYIE- BRSPS FIRR E(E 2.0 44.00
301 16 810228 R £1E 4.0 44.00
301 17 810229 EEYIE- SRR — =3 1.0 56.00
301 18 810232 EELE-ARCEEERRNE B 2.0 50.00
301 18 810232 BB CEREEYE = 1.0 40.00
301 18 810232 SRIEEE- )\ K2R =3 2.0 40.00
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301 19 810236 EEYIE- SRR — E=E 1.0 56.00
301 20 810237 HEH =35 4.0 55.00
301 20 810237 EEYIE- SRR — =35 1.0 58.00
301 22 810277 i R BRI Mg 2.0 40.00
301 23 810279 R = 4.0 46.00
301 23 810279 EEREE-ARCEEERRNE = 2.0 53.00
301 25 810317 EER(EE-ARCEEERRNE EE 2.0 56.00
301 25 810317 EEYIE- SRR — EE 1.0 43.00
301 26 810370 A = 4.0 58.00
301 27 810372 A = 4.0 52.00
301 29 810381 2R =B 4.0 40.00
301 29 810381 EERCE-ARCEEERNE =3 2.0 54.00
301 30 810385 FEH =3 4.0 51.00
301 30 810385 REYBE-BHRE_HETRS E(Z 2.0 58.00
301 30 810385 BEYIB-BHIRE— =1E 1.0 57.00
301 33 810108 FERE R ERERE =B 2.0 47.00
301 38 810327 FEH =3 4.0 46.00
301 38 810327 SRIUEEE- )\ K2R B =3 2.0 45.00
301 40 810401 ZEH =B 4.0 58.00
302 01 810012 S AR EA T E(E 2.0 53.00
302 01 810012 SRIEEE- )\ K222 EiE 2.0 55.00
302 03 810050 g =p=c NME 2.0 58.00
302 05 810057 EEYIE- BRSPS FIRR =1E 2.0 57.00
302 06 810081 BEHFE  NEERAEE BIE 2.0 46.00
302 07 810384 EJEAER &5 4.0 51.00
302 07 810384 EEEE-ARCEEERMNE =5 2.0 58.00
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BAYIR KBS Eh BRDYEIE P BT
302 11 810125 EEB{E2EEREEYEE =3 1.0 44.00
302 11 810125 EBEE-ARCEEERARE E(E 2.0 49.00
302 11 810125 AN FRIEHBEREHN BE 2.0 40.00
302 12 810137 EEYIE-BHIRE _HEFIRR EE 2.0 54.00
302 12 810137 EERCE-ARCEEERRNE BIE 2.0 55.00
302 12 810137 EEYIE- SRR — BIE 1.0 56.00
302 13 810153 EER(EE-ARCEEERRNE EE 2.0 46.00
302 13 810153 =] AYE 2.0 55.00
302 13 810153 EEYIE-EHR R — BIE 1.0 56.00
302 14 810154 EEYIE-BHIRER— EE 1.0 43.00
302 16 810169 A EE 4.0 50.00
302 17 810189 A = 4.0 51.00
302 19 810199 A = 4.0 45.00
302 20 810207 BN EBEE I 2.0 51.00
302 20 810207 ZEH = 4.0 48.00
302 20 810207 EEEE-ARCEEERNE = 2.0 56.00
302 21 810231 BB B REEEE EE 1.0 53.00
302 21 810231 AR EBEBRIER = 2.0 40.00
302 22 810233 REYB-EBHRE_HETRS (s 2.0 54.00
302 22 810233 EELE-ARCEEERNE EE 2.0 56.00
302 22 810233 BIEYIB-BHIRE — =g 1.0 58.00
302 24 810316 BN EBEE = 2.0 41.00
302 26 810380 BB CEREEYE = 1.0 56.00
302 27 810382 EEYIE- SRR — I 1.0 54.00
302 28 810295 FEH EE 4.0 52.00
302 31 810068 EEEE-ARCEEERMNE B(E 2.0 56.00
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302 33 810174 EEYIE- SRR — E=E 1.0 57.00
302 35 810221 B2 CEREEYEE =3 1.0 57.00
302 35 810221 EEBE2-AR(CEEBARE =35 2.0 53.00
303 02 810006 g E(Z 4.0 48.00
303 02 810006 BB B RS =3 1.0 47.00
303 02 810006 RS RIEDIEEEM E(Z 2.0 50.00
303 04 810019 EEYIR-BHIRE — EE 1.0 48.00
303 04 810019 R H EE 4.0 51.00
303 04 810019 BB B REEEE =3 1.0 55.00
303 05 810039 g E(Z 4.0 52.00
303 06 810053 AR EBEEER =B 2.0 40.00
303 09 810226 ZEH =3 4.0 48.00
303 09 810226 REYBE-BHRE_HETRS E(Z 2.0 56.00
303 09 810226 AN FRIEHBREN =3 2.0 50.00
303 10 810227 REYIE-BHIRE— =1E 1.0 42.00
303 10 810227 FEH =B 4.0 56.00
303 10 810227 SEBEEENE =3 2.0 40.00
303 11 810234 BEYIB-BHIRE — E(E 1.0 59.00
303 11 810234 BEYIBE-BHRe_HETRS EE 2.0 55.00
303 12 810238 ZEH = 4.0 56.00
303 12 810238 AE MR EBEIBRIER =3 2.0 50.00
303 13 810240 EEYIE- SRR — =3 1.0 59.00
303 13 810240 EBYIR-BHIRe _HEFIRE =1E 2.0 59.00
303 13 810240 HHER BN = 2.0 40.00
303 15 810242 EJEAER &5 4.0 57.00
303 15 810242 EEYPE-BHIRR _HEFIRR =3 2.0 50.00
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303 16 810303 EEYIE- SRR — E=E 1.0 54.00
303 16 810303 SBEREEMR =35 2.0 40.00
303 16 810303 BEREE R REETE =35 1.0 54.00
303 17 810308 BITAE IME 2.0 58.00
303 18 810309 g E(Z 4.0 57.00
303 23 810067 B AR E A E(Z 2.0 40.00
303 26 810142 R H EE 4.0 57.00
303 27 810393 B BEE E(Z 2.0 52.00
303 27 810393 =] WE 2.0 57.00
303 27 810393 EERCE-ARCEEERNE = 2.0 47.00
303 27 810393 EEYIE-BHIRER— =B 1.0 41.00
303 27 810393 SEEREEME =3 2.0 40.00
303 28 810215 FEH =3 4.0 54.00
303 32 810389 BRNEEE =3 2.0 54.00
303 33 810112 FEH =3 4.0 42.00
303 33 810112 | EBEW-4£E - BEAREVZEMK B 2.0 47.00
303 33 810112 BB B REEEE = 1.0 58.00
303 33 810112 fi FR BN B A0 EE 2.0 53.00
303 34 810152 | EBEW-EE - BEEREMZEM B 2.0 58.00
303 35 810387 BB CEREEYE = 1.0 40.00
303 38 810071 P £1E 4.0 46.00
304 03 810116 R £1E 4.0 56.00
304 03 810116 BB EUR £1E 2.0 52.00
304 05 810120 EEYPE-BHIRR _HEFIRR i 2.0 49.00
304 08 810131 BB ER &5 2.0 49.00
304 10 810198 EEYIE- SRR — E1E 1.0 49.00
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BAYIR KBS Eh BRDYEIE P BT
304 10 810198 HEEDR 2.0 42.00
304 11 810205 EEYIE- SRR — 1.0 59.00
304 11 810205 EEYPE-BHIRR _EETFIRR 2.0 56.00
304 12 810268 EEYPE-BHIRR _HEEFIRR 2.0 58.00
304 15 810140 B EDR 2.0 51.00
304 19 810218 EEYIE- SRR — 1.0 58.00
304 21 810285 EEYIE- SRR — 1.0 47.00
304 22 810286 BRNEBES 2.0 42.00
304 22 810286 SEEEEEME 2.0 48.00
304 22 810286 EEYIE-SHIRE _BEETFIRR 2.0 44.00
304 25 810113 A 4.0 54.00
304 27 810124 EBEEBEZE 1.0 56.00
304 27 810124 | EEBEY -4 - BEREYSHEM 2.0 47.00
304 27 810124 EERCE-ARCEEERRNE 2.0 51.00
304 27 810124 S iif45E 2.0 58.00
305 02 810046 | EEBEY-£E - BEAREVZ 2.0 57.00
305 02 810046 SEBEEENE 2.0 40.00
305 02 810046 EELE-ARCEEERNE 2.0 53.00
305 02 810046 g 2.0 55.00
305 02 810046 B\ 2.0 40.00
305 03 810083 P 4.0 44.00
305 03 810083 BN EBEE 2.0 43.00
305 04 810084 | EEBAY -4 - BEREVSHEM 2.0 42.00
305 04 810084 HHER BN 2.0 40.00
305 04 810084 BN BEE 2.0 56.00
305 04 810084 S iif4E 2.0 58.00
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BAYIR KBS Eh BRDYEIE W /BB P A
305 24 810150 EEB{E2EEREEYEE =3 1.0 53.00
305 24 810150 HEEDR =3 2.0 40.00
305 25 810178 HEH =35 4.0 50.00
305 30 810247 2R = 4.0 44.00
305 32 810254 2R = 4.0 40.00
305 34 810288 R = 4.0 47.00
305 34 810288 FERE  REHEB =3 2.0 45.00
305 35 810324 EEBYBE-NE _EAE EE 2.0 41.00
305 36 810328 g E(Z 4.0 56.00
305 38 810337 2R = 4.0 54.00
305 38 810337 SEEEEEME =B 2.0 40.00
306 01 810004 SEEREEME =3 2.0 40.00
306 02 810020 HEEBIEEE £1E 3.0 57.00
306 02 810020 EFBUaER AR =B 3.0 58.00
306 03 810038 B - RIREBITNES =3 3.0 53.00
306 03 810038 RH IME 2.0 44.00
306 03 810038 SEBEEENE =B 2.0 40.00
306 03 810038 EFBURE AR EE 3.0 42.00
306 04 810044 S AR EA T E(E 2.0 40.00
306 04 810044 EFBURE AR =B 3.0 51.00
306 07 810128 EFBUaE AR =3 3.0 52.00
306 07 810128 — BN BRATHM RIRE =B 1.0 55.00
306 08 810134 EJ5 ME 2.0 53.00
306 08 810134 RFBUaE AR =HE 3.0 48.00
306 11 810197 HHER BN =HE 2.0 40.00
306 11 810197 RFBUaE AR =HE 3.0 44.00
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BAYIR KBS Eh BRDYEIE P BT
306 12 810202 RN REEBF =3 2.0 46.00
306 12 810202 SBEREEMR BE 2.0 40.00
306 12 810202 EFBUREAE = 3.0 52.00
306 13 810263 AR E A E=(E 2.0 40.00
306 13 810263 EFBUREARE =3 3.0 51.00
306 13 810263 HERVRENKRBE E(E 1.0 54.00
306 14 810271 HERIEEE B=(E 3.0 58.00
306 14 810271 EREFBUaEEAER =3 3.0 55.00
306 15 810273 EFBUaER AR = 3.0 49.00
306 17 810386 B -~ IRIBHEENIOES = 3.0 47.00
306 17 810386 R BB EE 2.0 49.00
306 17 810386 HEREZE B=(E 3.0 57.00
306 17 810386 R B R = 2.0 40.00
306 17 810386 EFBUaER AR I 3.0 40.00
306 18 810024 PFENBEE = 2.0 46.00
306 24 810070 PFNBEE = 2.0 47.00
306 26 810181 HERIBER s 3.0 57.00
306 29 810211 EFBURE AR = 3.0 47.00
306 30 810289 B - RIREBINES = 3.0 51.00
306 30 810289 HEREZE BE 3.0 55.00
306 30 810289 S AR EA T B{E 2.0 40.00
306 30 810289 EFBUaE AR BE 3.0 48.00
306 33 810395 SEREEWR B{E 2.0 40.00
307 02 810048 — BB RITHM RIRE = 1.0 56.00
307 05 810025 P EBEE B{E 2.0 58.00
307 10 810398 BEEBEE B{E 2.0 41.00
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